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Тротуары слева

На обочине

На разделительной

Дорожные 
ограждения и 
направляющие 

устройства слева

Дорожная разметка слева

Элементы в плане

Продольный профиль

Дорожная разметка справа

На разделительной
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ограждения и 
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8 R=127578, L=564

0,005 - 0,300, (295 м), а/б
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R=127578, L=564

0,300 - 0,367, (67 м), а/б 0,382 - 0,600, (218 м), а/б
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2 α=9
L=148

0,600 - 0,665, (65 м), а/б 0,679 - 0,900, (221 м), а/б
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На разделительной

Дорожные 
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устройства слева

Дорожная разметка слева
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Продольный профиль
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α=9
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0,900 - 0,934, (34 м), а/б


